Monthly averaged wind velocity by MF radar at Tromsoe for November 2021
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mean sigma = 19.088 mean sigma = 21.402

=
o
(=]

50 E
o W 106km
-50 -3
-100E ]
0 0
mean sigma = 19.330
100F E| 100F E|
50 . - 50 -
oL ol '«*If;,'Wy : of s 103km
-50F E -50F E
-100E E -100E E
0 4 8 12 16 20 0 0 4 8 12 16 20 0
mean sigma = 20.416 mean sigma = 23.785
1007 ] 100F E
50 - 50 -
ol T oty © 100km
-50 - 50 -
-100E ) E -100E E
0 4 8 12 16 20 0 0 4 8 12 16 20 0
mean sigma = 21.177 mean sigma = 23.035
100 ] 100 ]
50 - 50 -
o P of 5 97km
-50 - -50 -
-100E E -100E E
0 4 8 12 16 20 0 0 4 8 12 16 20 0
mean sigma = 20.429 mean sigma = 22.455
100F 3 100F E
50 - 50 -
0 v o 7 94km
50 - -50 -
-100E 3 -100F 3
0 4 8 12 16 20 0 0 4 8 12 16 20 0
mean sigma = 18.995 mean sigma = 21.425
100F B 100F ]
50 - 50 -
O At e T S 0 bl Ay T At Q1km
-50F E -50 E
-100E ] -100E ]
0 4 8 12 16 20 0 0 4 8 12 16 20 0
mean sigma = 18.011 mean sigma = 20.541
100F ] 100F ]
50 - 50 -
Oy = opsaltastuiy ot s it R R 2 BBKM)
-50 - -50 -
-100E E -100E E
0 4 8 12 16 20 0 0 4 8 12 16 20 0
mean sigma = 18.189 mean sigma = 19.240
1007 ] 100F E
50 - 50 -
-50 - E -50 - E
-100E E -100E E
0 4 8 12 16 20 0 0 4 8 12 16 20 0

plot_mf_month_ave_year.pro
Wed Feb 16 09:43:02 2022



=
a o
o O

o

o
ISER
ISIR=]

=
a o
o O

o

o
o &
S o

=
a o
o O

[
o &
ISIR=]

i
a o
o O

[
o &
ISIR=]

=
a o
o O

o
o &
ISIR=]

=
a o
o O

o
ISER
ISIR=]

=
a o
o O

o
o &
ISIR=]

Monthly averaged wind velocity by MF radar at Tromsoe for November 2021
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